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Mathematics Mega Quiz for RRB NTPC 
 
Q1. Amit can finish a piece of work in 60 days while Ankit can do it in 90 days. If both work 
together, what time will they take to do the work? 

अमित एक कार्य को 60 दिनों िें परूा कर सकता ह ैजबदक अदंकत इसी कार्य को 90 दिनों िें परूा कर सकता ह।ै र्दि िोनों 

मिलकर कार्य करें, तो व ेइस ेदकतन ेसिर् िें कार्य परूा कर लेंग?े 

(a) 45 days 
(b) 27 days 
(c) 36 days 
(d) None of these 
 
Q2. What is the area of the triangle formed by the Points (–5, 7), (4, –1) and (4, –1)? 

मबन्िओुं (–5, 7), (4, –1) तथा (4, –1) द्वारा बनाए गए मिभजु का क्षिेफल ज्ञात कीमजए। 

(a) 255 
(b) 362 
(c) 162 
(d) None of these 
 
Q3. A toy consists of a base that is the section of a sphere and a conical top. The volume of the 
conical top is 225 π cubic. units and its height is 3 units and total height of toy is 28 units. The 
volume of the sphere (in cubic units), from which the base has been extracted, is 

एक मिलौन ेका आधार एक गोल ेका भाग ह ैतथा उसका शीर्य शकुं ह।ै शकं्वाकार शीर्य का आर्तन 225π घन इकाई ह ैऔर 

मिलौन ेकी कुल ऊँचाई 28 इकाई ह।ै गोल े के मजस भाग स े मिलौन ेका आधार बना ह ैउसका आर्तन (घन इकाई िें) ज्ञात 

कीमजए। 

(a) 
19652

3
π  

(b) 
3375

3
π  

(c) 
16232

3
π  

(d) 
22328

3
π  

 
Q4. Find the remainder when f (x) = 27x³ – 45x² + 9x + 12 is 

divided by g(x) = x – 
1

3
  

जब f (x) = 27x³ – 45x² + 9x + 12 को, g(x) = x – 
1

3
 स े मवभामजत दकर्ा 

जाता ह ैतो शरे्फल ज्ञात कीमजए। 

(a) 3 
(b) 11 
(c) –12 
(d) 14 
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Q5. Raman started for the station 5 km from his school walking at 10 km/hr to catch the train in 

time. After 12 minutes he realized that he had forgotten a file at his classroom and returned with 

increased but constant speed to get it and succeeds in catching the train. Find his latter speed in 

km/hr: 

रिन सिर् स ेरेलगाड़ी पकड़न ेके मलए अपन ेमवद्यालर् स े5 दकिी िरू मथथत थटेशन के मलए 10 दकिी/घटंा की गमत स ेचलना 

आरम्भ करता ह।ै 12 मिनट के बाि उस ेध्र्ान आता ह ैदक वह अपनी एक फाइल कक्षा िें ही भलू आर्ा ह ैऔर वह बढ़ी हुई 

लदेकन एक मथथर गमत स ेवामपस जाता ह ैऔर सिर् पर रेलगाड़ी पकड़न ेिें कािर्ाब होता ह।ै उसकी बाि की गमत दकिी/घटें िें 

ज्ञात कीमजए। 

(a) 19
1

7
 km/hr 

(b) 18
2

3
 km/hr 

(c) 22
1

2
 km/hr 

(d) 23
1

3
 km/hr 

 

Q6. In the given figure three squares having side 5 m are joined to form a 15 × 5 rectangle and two 

diagonals are joined. Find the value of x 

िी हुई आकृमत िें 15 × 5 का आर्त बनान ेके मलए 5 िी भजुा वाल ेतीन वगों को जोड़ा गर्ा ह ैतथा िो मवकर्णों को भी जोड़ा 

गर्ा ह।ै x का िान ज्ञात कीमजए। 

 
(a) 30° 

(b) 90° 

(c) 45° 

(d) 60° 

 

Q7. A company gives a 25% discount on the list price of its products and made a 20% profit. Some 

time later company increases its production cost by 20% and issue a new list price which is 20% 

more than previous one. If the company continues to allow the discount as before, Find the profit 

percentage at new cost price. 

एक कम्पनी अपन ेउत्पाि के सचूी िलू्र् पर 25% छूट ितेी ह ैऔर 20% लाभ अर्जयत करता ह।ै कुछ सिर् के बाि कम्पनी 

इसकी उत्पािन लागत िें 20% स ेवमृि कर ितेी ह ैऔर नर्ा सचूी िलू्र् जारी करती ह ैजो मपछल ेिलू्र् स े20% अमधक ह।ै 

र्दि कम्पनी पहल ेकी तरह ही छूट ितेी ह,ै तो नए क्रर्-िलू्र् पर लाभ प्रमतशत ज्ञात कीमजए। 

(a) 20% 

(b) 18
2

3
% 

(c) 25% 

(d) 22
2

9
% 
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Q8. x² – 12x + 35 = 0 and x² + ax – 21 = 0, have a root in common. What is sum of roots of second 

equation? 

x² – 12x + 35 = 0 और x² + ax – 21 = 0, का एक िलू उभर्-मनष्ठ ह।ै िसूरे सिीकरर्ण के िलूों का र्ोग ज्ञात कीमजए। 

(a) –3 

(b) 7 

(c) 5 

(d) 4 

 

Q9. A dairyman pay Rs. 8 per litre of milk. He adds water and sells the mixture at 9 per litre, there 

by making 80% profit. The proportion of water to milk received by the customers is 

एक िधूवाला 8 रु./लीटर की िर स ेिधू िरीिता ह।ै वह इसिें पानी मिलाता ह ैऔर मिश्रर्ण को 9 रु./लीटर की िर स ेबचेता ह,ै 

तथा 80% लाभ अर्जयत करता ह।ै ग्राहक द्वारा प्राप्त मिश्रर्ण िें पानी का िधू स ेसिानपुात ह-ै 

(a) 9 : 4 

(b) 3:5 

(c) 6 : 5 

(d) 7 : 3 

 

Q10. 315 + 316 + 317 + 318 + 319 is divisible by. 

315 + 316 + 317 + 318 + 319 दकस स ेमवभाज्र् ह?ै 

(a) 11 

(b) 13 

(c) 19 

(d) 17 

 

Q11. Ayesha can complete a piece of work in 16 days. Amita can complete the same piece of work 

in 8 days. If both of them work together in how many days can they complete the same piece of 

work? 

आर्ेशा दकसी कार्य को 16 दिनों िें कर सकती ह.ै अमिता सिान कार्य को 8 दिनों िें कर सकती ह.ै र्दि वह एक साथ कार्य करत े

हैं तो सिान कार्य दकतन ेदिनों िें परूा हो सकता ह?ै 

(a) 4
2

5
 days 

(b) 5
1

3
 days 

(c) 6 days 

(d) 12 days 

 

Q12. A can complete a certain work in 4 minutes, B in 5 minutes, 

C in 6 minutes, D in 10 minutes and E in 12 minutes. The average 

number of units of work completed by them per minute will be? 

A दकसी कार्य को 4 मिनट, B 5 मिनट, C 6 मिनट, D 10 मिनट और E 12 मिनट 

िें कर सकता ह.ै उनके द्वारा प्रमत मिनट परू्णय की गई इकाइर्ों की औसत सखं्र्ा क्र्ा 

होगी? 

(a) 0.16 

(b) 0.40 

(c) .80 

(d) None of these/ इनिें से कोई नहीं 

http://www.bankersadda.com/
http://www.sscadda.com/
http://www.careerpower.in/
http://www.adda247.com/
https://store.adda247.com/product-testseries/2116/RRB-NTPC-Premium-2019-Online-Test-Series-NTPC-Special


4 www.bankersadda.com      |    www.sscadda.com       |      www.careerpower.in      |      www.adda247.com 

 

 

Q13. A can finish a work in 18 days and B can do the same work in half the time taken by A. Then, 

working together, what part of the same work they can finish in a day? 

A दकसी कार्य को 18 दिनों िें परूा कर सकता ह ैऔर B सिान कार्य को A स ेआध ेसिर् िें परूा कर सकता ह.ै तो एक साथ कार्य 

करत ेहुए, वह एक दिन िें उस कार्य का दकतना महथसा कर सकत ेहैं? 

(a) 
1

6
 

(b) 
1

9
 

(c) 
2

5
 

(d) 
2

7
 

 

Q14. A can complete a work in 6 days while B can complete the same work in 12 days. If they work 

together and complete it, the portion of the work done by A is? 

A दकसी मनमित कार्य को 6 दिनों िें और B 12 दिनों िें कर सकता ह.ै र्दि वह एक साथ कार्य करत ेहैं और इस ेपरूा करत ेहैं, तो 

A द्वारा कार्य का दकतना भाग दकर्ा गर्ा है? 

(a) 1/3 

(b) 1/4 

(c) 1/2 

(d) 2/3 

 

Q15. A can do a piece of work in 8 days and B can do the same piece of work in 12 days. A and B 

together complete the same piece of work and get Rs. 200 as the combined wages. B’s share of the 

wages will be? 

A एक मनमित कार्य को 8 दिनों िें और B सिान कार्य को 12 दिनों िें कर सकता ह।ै A और B एक साथ इस कार्य को परूा करत े

हैं और उन्हें 200 रूपए की सरं्कु्त िजिरूी प्राप्त होती ह।ै िजिरूी िें B का महथसा क्र्ा होगा? 

(a) Rs. 75 

(b) Rs. 80 

(c) Rs. 85 

(d) Rs. 90 

 

Q16. A and B together complete a piece of work in T days. If A alone complete the work in T + 3 

days and B alone completes the piece of work in T + 12 days, what is T? 

A और B एक साथ दकसी कार्य को T दिनों िें परूा कर सकत ेहैं. र्दि A अकेला कार्य को T + 3 दिनों िें कर सकता ह ैऔर B 

कार्य को T + 12 दिनों िें परूा कर सकता ह ैतो T का िान ज्ञात करें? 

(a) 3 days 

(b) 9 days 

(c) 12 day 

(d) None Of these/ इनिें से कोई नहीं 
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Q17. A man can do a job in 15 days. His father takes 20 days and his son finishes it in 25 days. How 

long will they take to complete the job if they all work together? 

एक व्यमक्त दकसी कार्य को 15 दिनों िें कर सकता ह.ै उसके मपता इस े20 दिनों और बटेा 25 दिनों िें परूा कर सकता ह.ै र्दि 

वह एक साथ कार्य करत ेहैं तो कार्य दकतन ेदिनों िें परूा होजगेा? 

(a) Less than 6 days/ 6 दिन से कि 

(b) Exactly 6 days/ ठीक 6 दिन िें 

(c) Approximately 6.4 days/ लगभग 6.4 दिन िें 

(d) More than 10 days/ 10 दिनों से अमधक िें 

 

Q18. Amit and Sumit can phough a field in 4 days. Sumit alone can phough the field in 6 days. In 

how many days will Amit alone plough the field? 

अमित और समुित 4 दिन िें एक िते की जतुाई कर सकत ेहैं। समुित अकेल े6 दिन िें िते की जतुाई कर सकता ह।ै अमित अकेल े

दकतन ेदिनों िें िते की जतुाई करेगा? 

(a) 10 days 

(b) 12 days 

(c) 14 days 

(d) 15 days 

L1Difficulty 2 

QTags Time And Work 

 

Q19. X, Y and Z complete a work in 6 days. X or Y alone can do the same work in 16 days. In how 

many days Z alone can finish the same work? 

X, Y और Z दकसी कार्य को 6 दिनों िें कर सकत ेहैं. X र्ा Y सिान कार्य को 16 दिनों िें कर सकत ेहैं. Z अकेल ेइस कार्य को 

दकतन ेसिर् िें परूा कर सकता ह?ै 

(a) 12 

(b) 16 

(c) 24 

(d) 36 

 

Q20. A can complete 1/3 of a work in 5 days and B, 2/5 of the 

work in 10 days. In how many days both A and B together can 

complete the work? 

A दकसी कार्य का 1/3 कार्य 5 दिनों िें और B, 10 दिनों िें कार्य का 2/5 भाग परूा 

कर सकता ह।ै A और B िोनों मिलकर दकतन ेदिनों िें काि परूा कर सकत ेहैं? 

(a) 7
1

2
 

(b) 8
4

5
 

(c) 9
3

8
 

(d) 10 
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Q21. Simple interest on a certain sum of money for 3 years at 8% per annum is half the compound 

interest on Rs 1200 for 2 years at 10% per annum. The sum placed on simple interest is? 

एक मनमित रामश पर 3 वर्य के मलए 8% की वार्र्यक िर स ेसाधारर्ण ब्र्ाज, 1200 रूपए पर 2 वर्ों के मलए 10% की वार्र्यक 

िर स ेप्राप्त चक्रवमृि ब्र्ाज का आधा ह।ै साधारर्ण ब्र्ाज पर दकतनी रामश िी गर्ी है?  

(a) Rs 525  

(b) Rs 1050 

(c) Rs 260  

(d) Rs 420 

 

Q22. If 2x + 3(5-2x) > 2 - 3x < 2x - x/3, then x can take which of the following values? 

र्दि 2x + 3(5-2x) > 2 - 3x < 2x - x/3 है, तो x का िान क्र्ा होगा? 

(a) 0  

(b) -2 

(c) -4  

(d) 2 

 

Q23. If x + y = 12 and xy = 32, then what is the value of x2 + y2 

र्दि x + y = 12 और xy = 32 है, तो x2 + y2 का िान क्र्ा है?  

(a) 24  

(b) 144 

(c) 128  

(d) 80 

 

Q24. Which of the following numbers is completely divisible by 99? 

मनम्नमलमित िें स ेकौन सी सखं्र्ा 99 स ेपरू्णयतः मवभाज्र् है?  

(a) 51579  

(b) 51557 

(c) 55036  

(d) 49984 

 

Q25. If cosC + cosD = x, then value of x is 

र्दि cosC + cosD = x है, तो x का िान ह:ै  

(a) 2cos[(C+D)/2]cos[(C-D)/2] 

(b) 2sin[(C+D)/2]sin[(C-D)/2] 

(c) 2cos[(C+D)/2]sin[(C-D)/2] 

(d) 2sin[(C+D)/2]cos[(C-D)/2] 

 

Q26. What is the length of the arc whose central angle is 30° and radius of the circle is 21 cm? 

चाप की लबंाई दकतनी ह ैमजसका कें द्रीर् कोर्ण 30° ह ैऔर वतृ्त की मिज्र्ा 21 सेंटीिीटर है?  

(a) 22 cm/ सेिी  

(b) 16.5 cm/सेिी  

(c) 28.5 cm/ सेिी  

(d) 11 cm/सेिी  
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Q27. A solid copper sphere of radius 9 cm is melted and reformed into a wire of radius 1 mm. 

What will be the length of this wire? (Take π = 22/7)  

एक 9 सिेी मिज्र्ा वाल ेठोस ताबं ेके गोल ेको मपघलाकर एक 1 मििी मिज्र्ा वाली एक तार बनाई जाती ह।ै तार की लबंाई 

क्र्ा होगी? (π = 22/7 लीमजर्)े  

(a) 1166.4 metres/िीटर  

(b) 1458 metres/िीटर  

(c) 777.6 metres/िीटर  

(d) 972 metres/िीटर 

 

Q28. The simplified form of (4x + 3)2. (3x - 5) - (4x3 - 12x2 + 9x - 20) is 

(4x + 3)2. (3x - 5) - (4x3 - 12x2 + 9x - 20) का सरलीकृत रूप ह ै: 

(a) 6x2 - 48x – 50   

(b) 24x3 + 2x2 - 32x - 15 

(c) 44x3 + 4x2 - 102x – 25  

(d) 24x3 + 8x2 - 42x – 50 

 

Q29. The sum of a non-zero number and its reciprocal is 2. What is the number? 

एक गरै-शनू्र् सखं्र्ा और इसके व्यतु्क्रि का र्ोग 2 ह।ै सखं्र्ा क्र्ा है?  

(a) 1  

(b) 2 

(c) 0  

(d) 4 

 

Q30. What is the value of cosec -150°? 

cosec -150° का िान क्र्ा है?  

(a) -2  

(b) 2/√3 

(c) 2  

(d) -2/√3 
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